
HIGHLIGHTS 
ظ	 Waterless cooking system 
ظ	 Nine separate and distinct heating circuits; three 

jackets, three steam sections, and three sets of heated 
augers. 

ظ	 Non-salty whey is available to capture since salting 
does not occur until second section 

ظ	 Full separation prior to dry salting in second section to 
maximize whey revenue

ظ	 pH is measured in the first collection tank and can be 
used to optimize upstream production (option)

ظ	 Dry ingredient dosing based on weight and velocity

APPLICATION
The Tetra Pak® Cooker Stretcher DDA is a dry cooker 
designed to cook and stretch pasta filata style curd in 
the making of cheeses such as mozzarella, provolone, 
or pizza cheese. The Tetra Pak® Cooker Stretcher DDA 
provides enhanced control over cooking parameters, 
better environmental performance by eliminating cook 
water, ingredient addition capabilities, increased yield, 
integrated dry salting, and integrated pH measurement.

WORKING PRINCIPLE
The machine employs a waterless cooking system, i.e. dry 
cooking. Nine separate and distinct heating circuits are 
employed. Each of the three sections has a heated jacket, 
low pressure steam hoods, and heated counter rotating 
augers. 

Cheese curd enters the first section via a large hopper 
as two sets of counter-rotating augers cook and stretch 
the curd. As the cheese enters the second section, the 
weight and velocity are measured to provide feedback to 
the optional dry ingredient/salt system. 

Once the dry ingredient/salt is added, the two sets of 
augers provide thorough and consistent distribution, 
gently mixing the ingredients into the warm pasta filata 
body. 

When the cheese reaches the end of the cooker, it is 
evenly salted and transferred to a moulder (or other 
application depending on needs).

Tetra Pak® Cooker Stretcher DDA
Machine for dry cooking and stretching mozzarella cheese



©
 Tetra P

ak In
tern

ation
al S.A

, Tetra P
ak C

h
eese an

d
 P

ow
d

er System
s B

V, 2021-07-22

Tetra Pak, , PROTECTS WHAT’S GOOD is a trademark 
belonging to the Tetra Pak Group. www.tetrapak.com

STANDARD SCOPE OF SUPPLY 
ظ	 Incoming product temperature sensor in the hopper
ظ	 Product level sensor in hopper
ظ	 Automatic retractable CIP spray in bodies
ظ	 Curd rake to prevent bridging 
ظ	 Vertical wall hoppers for better auger take-up of cheese
ظ	 Two heated augers per section
ظ	 Weigh plate and velocity encoder
ظ	 Idler bearings mounted outside of product zone in 

sections 1 & 2
ظ	 Whey collection tanks (Non-salty and salty)
ظ	 Ingredient addition provisions
ظ	 IO Link

OPTIONS
ظ	 Dry ingredient dosing unit 
ظ	 Endress & Hauser pH sensor 

AUTOMATION
Siemens or Allen Bradley standard

MATERIALS
AISI 304 & 316 stainless steel construction
FDA and CE approved plastics and rubber

CAPACITY

Capacity	 Up to 6000kg/hr (13,227 lbs/hr)

Weight including Utility Skid	 12,020kg (26,500 lbs)

CONSUMPTION DATA 

	 560 kg/h @ 3 bar 
Utility Steam Consumption	 1234 lb/h @ 44 psi

	 160 kg/h @ 3 bar 
Culinary Steam Consumption	 352 lb/h @ 44 psi

	 0.6 m3/h @ 7 bar 
Compressed Air	 .35 CFM @ 100 psi

	 33 kW @ 230/400 VAC 50hz 
Electrical Requirements	 33A @ 480VAC 60hz

	 38 m3/h @ 1.5 bar 
CIP Flow Rate	 167 g/min @ 21 psi

	 5 m3/h @ 3 bar 
Utility Water (for initial fill)	 22 gpm @ 43 psi

IO block Assembly V03X40   17541028616125
IO block Assembly V03X30   17541024343124
IO block Assembly V03X10 & V03X20   17541028615123
IO block Assembly V02X40 & V02X41   17541024339122
IO block Assembly V02X20 & V02X30   17541024338121
IO block Assembly V02X10   17541024337120
IO block Assembly V01X20   17541024332119
IO block Assembly V01X10 & V01X22   17541028612118
IO block Assembly V03X31   17541025331117
IO block Assembly V02X42   17541024340116
IO block Assembly V01X21   17541024335115
 OP Support    17541024320114
PH Transmitter house Assembly    17541025066113
 90511-0145112
 90511-8563111
Hexagon nut DIN 934 M10 A2-70  90515-0997169
Washer ISO7089 10 200 HV A2  90515-4871168
Safety switch Assembly    1754102859476
Sensor cable, M12 Straight L=20.0m90606-083335
Sl. cheese h. screw ISO1207 M5x25 A2-70  90515-486644
Emergency stop Smile 11EA 2TLA030051R0000 ABB90606-898723
Dry Cooker Main Assembly    1754102188212
Dry Cooker Frame and piping assembly    1754102856511

DescriptionDrawing / Article NoQtyItem

Dry Cooker Main assembly  
 

Edges broken to 0.4x45° or R 0.5. - Burrs removed
Surface roughness Ra/µm
Tolerances:
 
 
Welding instructions:

of dimensions
of form and position
where not stated

NEN-EN-ISO 1302:2002
NEN-ISO 129-1:2004
NEN-EN-ISO 1101:2013
ISO 2768 Medium
TP 2039

First angle projection

Drawn

Approved

Released

: NLHOEKSTRAH
: 
: 

© Tetra Pak. All rights reserved; 
any copying, transmittal or disclosure
subject to Tetra Pak's written approval.

Security Class:
Restricted

Project No:

5-5-2021
 
 

Dimensions in mm. Do not scale verify all dimensions

Drawing No:17541028568 REV: AA
Life Cycle State: Work in Progress

Sheet: 1 of 1 

Derived from: 

Category: Manufactured

Scale: 1:20 Sheet Size: A0

Operator platform

REV DESCRIPTION REL.BY REL.DATE
AA    

11263±

23
35

37
77

±

20
61

±

9880

12
00

 
Se

rv
ic

e 
ar

ea

60
00

24
65

±
R

eq
ui

re
d 

sp
ac

e 
fo

r d
ai

ly
 o

pe
ra

tio
n

23
35

M
ac

hi
ne

 w
id

th

1041±
Service area

4000 Minimal required free space for service

15500

IO block Assembly V03X40   17541028616125
IO block Assembly V03X30   17541024343124
IO block Assembly V03X10 & V03X20   17541028615123
IO block Assembly V02X40 & V02X41   17541024339122
IO block Assembly V02X20 & V02X30   17541024338121
IO block Assembly V02X10   17541024337120
IO block Assembly V01X20   17541024332119
IO block Assembly V01X10 & V01X22   17541028612118
IO block Assembly V03X31   17541025331117
IO block Assembly V02X42   17541024340116
IO block Assembly V01X21   17541024335115
 OP Support    17541024320114
PH Transmitter house Assembly    17541025066113
 90511-0145112
 90511-8563111
Hexagon nut DIN 934 M10 A2-70  90515-0997169
Washer ISO7089 10 200 HV A2  90515-4871168
Safety switch Assembly    1754102859476
Sensor cable, M12 Straight L=20.0m90606-083335
Sl. cheese h. screw ISO1207 M5x25 A2-70  90515-486644
Emergency stop Smile 11EA 2TLA030051R0000 ABB90606-898723
Dry Cooker Main Assembly    1754102188212
Dry Cooker Frame and piping assembly    1754102856511

DescriptionDrawing / Article NoQtyItem

Dry Cooker Main assembly  
 

Edges broken to 0.4x45° or R 0.5. - Burrs removed
Surface roughness Ra/µm
Tolerances:
 
 
Welding instructions:

of dimensions
of form and position
where not stated

NEN-EN-ISO 1302:2002
NEN-ISO 129-1:2004
NEN-EN-ISO 1101:2013
ISO 2768 Medium
TP 2039

First angle projection

Drawn

Approved

Released

: NLHOEKSTRAH
: 
: 

© Tetra Pak. All rights reserved; 
any copying, transmittal or disclosure
subject to Tetra Pak's written approval.

Security Class:
Restricted

Project No:

5-5-2021
 
 

Dimensions in mm. Do not scale verify all dimensions

Drawing No:17541028568 REV: AA
Life Cycle State: Work in Progress

Sheet: 1 of 1 

Derived from: 

Category: Manufactured

Scale: 1:20 Sheet Size: A0

Operator platform

REV DESCRIPTION REL.BY REL.DATE
AA    

11263±

23
35

37
77

±

20
61

±

9880

12
00

 
Se

rv
ic

e 
ar

ea

60
00

24
65

±
R

eq
ui

re
d 

sp
ac

e 
fo

r d
ai

ly
 o

pe
ra

tio
n

23
35

M
ac

hi
ne

 w
id

th

1041±
Service area

4000 Minimal required free space for service

15500


